20248 =& 3 3| Lee|H SXE ML

=N =X
HE: WHSAFLI(SXFH)

¢ D23l

SA - HB . ORI(B]H) - HIRAY - BAS Ofl Akt J| & o HlmE2
SXIE 2 19,302,078 19,548,346 A246,268
= 10,722, 149 10,798,649 AT76,500
s 563,217 561,289 1,928
L= 1,963,037 1,972,631 9,594
= 6,053,675 6,215,777 A162,102
SHNY2HZH(SX ) 27,220 32,580 25,360
JlE23l 27,220 32,580 25,360
JlE2&l 27,220 32,580 25,360
201 LEt23H| 21,940 23,940 A2,000
02 3323l 7,000 9,000 22,000
ORER3 S 7,000,000 7,000 9,000 A2,000
202 (44| 5,280 8,640 A3,360
01 =2LH0dH| 5,280 8,640 A3,360
Ooz2lotl(3S24])
110,000 4 S+ Ch 122 5,280 8,640 A3,360
FOIXIR Dl 25} 629,994 770,439 140,445
= 1,125 1,125 0
= 79,849 79,849 0
= 549,020 689,465 A140,445
=X01E 29 209,962 343,784 133,822
= 1,125 1,125 0
= 79,849 79,849 0
= 128,988 262,810 133,822
=X018 29 14,600 18,200 A3,600
202 044l 8,400 12,000 A3,600
01 2UH0dH| 8,400 12,000 A3,600
O=D e P RF2
140,000 %501 128 8,400 12,000 A3,600
AMIELHE XJA(HEAIH) 71,712 201,934 A130,222
301 LBENS 71,712 201,934 130,222
10 MBI SRAEAZ 71,712 201,934 130,222
OAIRI=SRAABAZ 71,712 201,934 130,222
0Ql24d| 860,000 *60!x12& 61,920 175,440 A113,520
(OmE=i:] 5,000 +601%222 x 122 7,920 22,440 A14,520
0ul=dl 311,840 %601 1,872 4,054 A2,182
FololsAldae|m Y2 420,032 426,655 6,623
SN 2H2H 390,032 396,655 6,623
101 eI244| 78,724 85,347 6,623
04 JI2tHIRE XS 2+ 78,724 85,347 N\G,623
ATHSKIF 2 2 0 6,623 N6,623
oolE= o 0 4,930 24,930
O=xt==g o 0 789 AT89
0 Xt==&t o 0 158 A158
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2AM: SXE
S FXX DIgE 25t
cl: FR0IZSAE 2R N2 S (CHl: X 21)
SA - FH - O(3) - MSAY - BES OflAroy o) 3 e GmE==T
=013 (=] 0 265 N265
0HZEE o 0 209 A209
0L QIED | QYEH o= 0 27 N7
(OE=3=: o 0 103 A103
0AHEE o 0 142 A142
2t BE 22l & X 2,158,540 2,163,710 25,170
& 404,590 403,960 630
i 1,753,950 1,759,750 25,800
S 153,970 154,570 2600
= 1,200 1,500 A300
= 152,770 153,070 A300
SEMSXE 2,400 3,000 2600
< 1,200 1,500 A300
= 1,200 1,500 A300
301 LetEdZ 2,400 3,000 2600
= 1,200 1,500 A300
= 1,200 1,500 A300
02 AZIBEEXFS(FHLAS, KLEHA) 2,400 3,000 2600
O=SEREAN | A=H| N
2,400,000 2,400 3,000 A600
= 1,200 1,500 A300
= 1,200 1,500 A300
SE=HAIXIR 2,004,570 2,009, 140 24,570
o= 403,390 402,460 930
= 1,601,180 1,606,680 25,500
SEHA 2el 117,470 122,970 25,500
301 LEtBE= 20,000 25,500 25,500
11 SALAIHIXIRZ 20,000 25,500 25,500
OES3H HENSE & S=2FA SAHA
A 50,00024%900! 4,500 5,500 A1,000
OE=8HA t2w=E & S=HA SASMAL
r=g 50,0002 %4591 2,250 2,500 A250
ORB£+EXlg ot2uE Y MK =
50,000 %4501 2,250 2,500 A250
C6.2&NMREXE 2 NE Y SaFA &
USHAL B4 o 0 2,500 A2,500
FHNEERIAE HENE L S2FA
SHUBHAL EHA 50,0002 %8001 4,000 5,000 A1,000
ONGHERS otBNE L SIRHA &
AL B A 50,000 #4501 2,250 2,500 A250
OLNYHNRE NANL & A &A
50,0002 %4501 2,250 2,500 A250
HERSA XA 982,060 981,130 930
== 359,980 359,050 930
= 622,080 622,080 0
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24 SXE
& It B2 22| & XA
ol 2E2HMAA (CHl: X 21)
2A - FHH - A2(SH) - HIRA - BES Ol kol Jl & oA Hws2
301 LetEdZ 982,060 981,130 930
< 359,980 359,050 930
= 622,080 622,080 0
02 ABISEEXES(FHLAS, KNLHA) 982,060 981,130 930
OEYENRE o=
643,660,000 643,660 642,730 930
== 224,620 223,690 930
= 419,040 419,040 0
HEE SXNXNE L NSA 1,661,770 1,760,470 98,700
= 409,074 489,074 80,000
s 399,307 399,307 0
& 211,452 221,452 A10,000
= 641,937 650,637 8,700
S|Y=KIKIA 1,470,233 1,568,933 98,700
= 375,316 455,316 80,000
= 399,307 399,307 0
== 197,074 207,074 10,000
= 498,536 507,236 A\8,700
SEArZ2I AL 21248 (XHAI) 15,004 13,704 1,300
101 eI244| 14,479 13,179 1,300
03 SRX(RIIHY)2ERE > 11,409 10,109 1,300
OSEAMAEZIAHS2H) 11,409 10,109 1,300
Dles B8N 495 ,6202%101% 12 5,948 4,748 1,200
(I=ESE=w] 2,683,5802%101x25|«60% 3,221 3,121 100
2=2=X 459,770 559,770 100,000
= 367,816 447,816 280,000
== 45,977 55,977 210,000
= 45,977 55,977 210,000
301 LB2ESZ 459,770 559,770 100,000
= 367,816 447,816 80,000
< 45,977 55,977 210,000
b 45,977 55,977 210,000
01 AIBIBEE 62 (2 NEXTHEH) 459,770 559,770 100,000
O2I=EX X 459,770,000 459,770 559,770 100,000
= 367,816 447,816 80,000
== 45,977 55,977 210,000
= 45,977 55,977 210,000
S| ZMESE 11,944,483 11,940,487 3,99%
= 9,180,909 9,177,409 3,500
s 163,910 161,982 1,928
< 1,125,766 1,125,990 N224
= 1,473,898 1,475,106 A1,208
HASE J|=MEsE 9,798,218 9,803,518 5,300
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A

S 20| EMEDE
el MASSES JIZEERE (EERSED)
SN - B BRI(3H) - MRAR - BYS ofl Ao /R GImE==h
= 7,681,481 7,681,481 0
s 102,087 102,087 0
= 967,900 968,960 A1,060
= 1,046,750 1,050,990 4,240
MAs A LEEHIa X3 800 6,100 25,300
== 160 1,220 1,060
= 640 4,880 4,240
301 LetEE= 800 6,100 5,300
= 160 1,220 A1,060
= 640 4,880 A4,240
02 AZISEEXFS(FHLAS, KNLHA) 800 6,100 5,300
OMasSIH detEdHI=g KA
100,000 %801 800 6,100 5,300
& 160 1,220 A1,060
= 640 4,880 4,240
MAsS NHEXJ 2,027,565 2,022,565 5,000
= 1,499,428 1,495,928 3,500
= 145,501 145,051 450
= 382,636 381,586 1,050
NEXEHEH2E 267,836 262,836 5,000
= 187,485 183,985 3,500
= 24,105 23,655 450
= 56,246 55,19 1,050
307 2I12t0]1H 267,836 262,836 5,000
= 187,485 183,985 3,500
L= 24,105 23,655 450
= 56,246 55,196 1,050
10 MBI SXALHE2IHIEX 267,836 262,836 5,000
OXIGXteHE 29| 267,836,000 267,836 262,836 5,000
= 187,485 183,985 3,500
= 24,105 23,655 450
= 56,246 55,196 1,050
HASEE A=ZXA 100,040 95,744 4,296
s 61,823 59,895 1,928
== 12,365 11,979 386
= 25,852 23,870 1,982
ArellZtel ML i (SIZSHZ2IAL 77,279 74,869 2,410
= 61,823 59,895 1,928
o= 12,365 11,979 386
= 3,091 2,99 96
101 @I244| 65, 180 62,770 2,410
s 52,144 50,216 1,928
== 10,418 10,032 386
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A

T ZH: $D|j|_;_o§-§_?g
el MASE 2z (EERSED)
SA - HB . ORI(B]H) - HIRAY - BAS Ofl kol J| & o HlmE2
= 2,618 2,522 96
03 SRH(RINHL) 22 XE 65, 180 62,770 2,410
O2l=2 30 H2IAF 21218](291)
65,180,000 65, 180 62,770 2,410
= 52,144 50,216 1,928
L= 10,418 10,032 386
= 2,618 2,522 9%
o220 BSXA(AZTS0ZIAL 22,761 20,875 1,886
101 eI44| 22,761 20,875 1,886
03 SRA(RINHL) 2E2XNE S 22,761 20,875 1,886
O30 &ACIAl SSH BN
400,000 %201x 122 9,600 7,871 1,729
O2dZZ20&2lAl YEZIHI
2,683,580&*221x120% 6,441 6,284 157
MRPES(SXE 1) 1,462,670 1,463,259 589
LHEHeHKIZ 587,574 588,260 686
IZSNII=EEIIAHEE 587,574 588,260 686
701 JIEtSIHSEHES 587,574 588,260 686
01 JIERIHINES 587,574 588,260 686
O 2=l |I=E83H d&=
587,574,000 587,574 588,260 686
SEXE 875,09 874,999 97
2A3 BE3 875,09 874,999 97
802 Btat=D1Et 875,09 874,999 97
01 =8 xZeea 727,485 727,411 74
020238 THASAIEESH RIRAAIY T &l
73,0502 74 0 74
02 Al - EHIBXZete=2 147,611 147,588 23
0202343 THASAHEESH NIRAIY & &l
22,4102 23 0 23
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A & 0l & AFE B Al A

24 SXE
M. 20| xMESE
tel: MASE =X (2=2S0IISSEIA) (CH2]: ®M2)
SA - HB . ORI(B]H) - HIRAY - BAS Ofl Akt J| & o lfmE==h
SXIE 2 717,947 710,928 7,019
= 77,428 77,428 0
o= 19,357 19,357 0
= 621,162 614,143 7,019
=SED|ZMESE 684,359 685,045 686
= 77,428 77,428 0
== 19,357 19,357 0
= 587,574 588,260 686
HASSE XA (A=230II2ELSIA) 684,359 685,045 686
= 77,428 77,428 0
L= 19,357 19,357 0
= 587,574 588,260 686
olZ30Hl XA (AZRES) 587,574 588,260 686
308 XtXISHHMISOIE 587,574 588,260 686
07 MHXISM2RE S 587,574 588,260 686
OQzz+3xt = S(2eE2)
587,574,000 587,574 588,260 686
MHREs(SXE 1) 33,588 25,883 7,705
BREINE(AZSHIISSLSA) 33,588 25,883 7,705
JIEtBtEt S 33,588 25,883 7,705
802 Bret=JIEt 33,588 25,883 7,705
03 JIEtEtEE S 18,599 10,894 7,705
OJIErEreZ2(R4a2, HAREH| 8)
7,704,150 7,705 0 7,705
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